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1. EBEFHIRA
(M=EIA 40,500 49,800 -9,300
(2) X EREEEINA 105,250 104,450 800
(3) BN EURA 67,725 67,725 0
(4) ZEEHEULA 15,000 15,270 -270
(5) ERIBEEREEEXINA 8,200 11,600 -3,400
(6) EFRISES EUNA 3,200 43,100 -39,900
(7) Z DI A 2,520 2,520 0
EXERHIRASEH 242,395 294,465 -52,070

LA EF(A) 242,395 294,465 -52,070
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2, BEEHXIH
OFEFEXH
(ERSEEREEREEXH 44,000 44,500 -500
(2)IRAEMREEXXH 19,300 21,270 -1,970
Q) ERIBEERREEEXIH 22,300 52,800 -30,500
(A BFEEREEEIH 11,800 12,300 -500
EXEXHE®B) 97,400 130,870 -33,470
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B H FHE |MEETELHE| # R " =
QEEEXH
(=FJ|EXH 3,000 3,000 0
(2) N B X H 53,500 67,500 ~14,000 [BBCLCHBEERT.
Q) fBHEEESH 5,500 6,500 -1,000
WREXBEXH 4,000 3,600 400 [mHicrskmEamBERnAT
(5) BIEEMEX T 1,200 1,200 0
O)EHHAMREXH 1,500 1,800 -300
(MKELBEXH 900 900 0
@) FBEEEHXH 14,700 14,700 0
(9) M E 3T H 2,700 2,400 300
(10) HEXH 2,700 2,000 700  |#iet, e snes
D) AFEARXH 3,800 3,600 200
(12) R=P-EREE W 1,400 1,400 0
(1HEXH 1,000 1,000 0
EEEXHE(C) 95,900 109,600 -13,700
EXEHIHE (D)=(B)+(C) 193,300 240,470 -47,170
EXFBHNIEFE(A-D) 49,095 53,995 -4,900
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I HBEETBHNZOH
1IREFEIRA
(1) RESGHE(T 5| 2 & EEARIRA 0 0 0
B EBENULAE (E) 0 0 0
2. BEFEE MW
(M EEEERGEH
A2 B A S H 67,725 72,625 -4,900
(2)RFEEERSXH 12,000 13,300 -1,300
BEEHIHE(F) 79,725 85,925 -6,200
BREFENINK EH (G)=(E)-(F) -79,725 -85,925 6,200
I F{HEEH) 10,000 10,000 0
LU X =56 (D= (A)- (D)HG)-(H) -40,630 -41,930 1,300
AR Z 8 (J) 80,000 90,000 -10,000
RAA GBI T Z 8 (K)=(D+) 39,370 48,070 -8,700
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